



LIUVILLE'S SEXTENARY QUADRATIC FORMS

$$x^2 + y^2 + z^2 + t^2 + 2u^2 + 2v^2, x^2 + y^2 + 2z^2 + 2t^2 + 2u^2 + 2v^2$$

$$\text{AND } x^2 + 2y^2 + 2z^2 + 2t^2 + 2u^2 + 4v^2$$

AYŞE ALACA, ŞABAN ALACA and KENNETH S. WILLIAMS

Centre for Research in Algebra and Number Theory

School of Mathematics and Statistics

Carleton University

Ottawa, Ontario, Canada K1S 5B6

e-mail: aalaca@connect.carleton.ca

salaca@connect.carleton.ca

kwilliam@connect.carleton.ca

Abstract

Liouville's asserted formulae for the number of representations of a positive integer by each of the sextenary quadratic forms $x^2 + y^2 + z^2 + t^2 + 2u^2 + 2v^2$, $x^2 + y^2 + 2z^2 + 2t^2 + 2u^2 + 2v^2$ and $x^2 + 2y^2 + 2z^2 + 2t^2 + 2u^2 + 4v^2$ are proved.

1. Introduction

Let \mathbb{Z} and \mathbb{N} denote the sets of integers and positive integers, respectively. Let $\mathbb{N}_0 = \mathbb{N} \cup \{0\}$. For $a_1, a_2, a_3, a_4, a_5, a_6 \in \mathbb{N}$ and $n \in \mathbb{N}_0$

2000 Mathematics Subject Classification: 11E25.

Keywords and phrases: sextenary quadratic forms, theta functions, representations.

The second and third authors were supported by research grants from the Natural Sciences and Engineering Research Council of Canada.

Received July 2, 2008

we set

$$\begin{aligned} & N(a_1, a_2, a_3, a_4, a_5, a_6; n) \\ &= \text{card}\{(x_1, x_2, x_3, x_4, x_5, x_6) \in \mathbb{Z}^6 \mid n = a_1x_1^2 + a_2x_2^2 \\ &\quad + a_3x_3^2 + a_4x_4^2 + a_5x_5^2 + a_6x_6^2\}. \end{aligned} \quad (1.1)$$

Clearly

$$N(a_1, a_2, a_3, a_4, a_5, a_6; 0) = 1. \quad (1.2)$$

Formulae for $N(a_1, \dots, a_6; n)$ for $(a_1, \dots, a_6) = (1, 1, 1, 1, 2, 2)$, $(1, 1, 2, 2, 2, 2)$ and $(1, 2, 2, 2, 2, 4)$ valid for all $n \in \mathbb{N}$ were originally conjectured by Liouville ([6], [7], [8]). It is the purpose of this paper to give simple proofs of these formulae.

2. Determination of $N(1, 1, 1, 1, 2, 2; n)$, $N(1, 1, 2, 2, 2, 2; n)$ and

$$N(1, 2, 2, 2, 2, 4; n)$$

Following Ramanujan [3, p. 6] we set

$$\varphi(q) = \sum_{n \in \mathbb{Z}} q^{n^2}, \quad \psi(q) = \sum_{n \in \mathbb{N}_0} q^{n(n+1)/2}. \quad (2.1)$$

The basic identities satisfied by φ and ψ are

$$\varphi(q) + \varphi(-q) = 2\varphi(q^4), \quad (2.2)$$

$$\varphi^2(q) + \varphi^2(-q) = 2\varphi^2(q^2), \quad (2.3)$$

$$\varphi(q)\varphi(-q) = \varphi^2(-q^2), \quad (2.4)$$

$$\varphi(q) - \varphi(-q) = 4q\psi(q^8), \quad (2.5)$$

$$\varphi(q)\psi(q^2) = \psi^2(q), \quad (2.6)$$

see [3, pp. 15, 71, 72]. From (2.2)-(2.6) we obtain the following identities.

Theorem 2.1.

$$(i) \quad \varphi^6(q) = \varphi^2(q)\varphi^4(-q) + 16q\varphi^2(q)\psi^4(q^2).$$

$$(ii) \quad \varphi^4(q)\varphi^2(q^2) = \frac{1}{2}\varphi^2(q)\varphi^4(-q) + \frac{1}{2}\varphi^4(q)\varphi^2(-q) + 8q\varphi^2(q)\psi^4(q^2).$$

$$(iii) \quad \varphi^2(q)\varphi^4(q^2) = \frac{1}{2}\varphi^2(q)\varphi^4(-q) + \frac{1}{2}\varphi^4(q)\varphi^2(-q) + 4q\varphi^2(q)\psi^4(q^2).$$

$$(iv) \quad \varphi(q)\varphi^4(q^2)\varphi(q^4) = \varphi^2(q^4)\varphi^4(-q^4) + 2q\varphi^2(q)\psi^4(q^2).$$

Proof. It is convenient to set

$$a := \varphi(q), \quad b := \varphi(-q).$$

Then, from (2.2)-(2.6), we obtain

$$\varphi^2(q^2) = \frac{1}{2}(a^2 + b^2), \quad \varphi(q^4) = \frac{1}{2}(a + b),$$

$$\varphi^2(-q^2) = ab, \quad \varphi^4(-q^4) = \frac{1}{2}(a^3b + ab^3),$$

$$q\psi^8(q) = \frac{1}{16}(a^8 - a^4b^4), \quad q\psi^4(q^2) = \frac{1}{16}(a^4 - b^4),$$

$$q\psi^2(q^4) = \frac{1}{8}(a^2 - b^2), \quad q\psi(q^8) = \frac{1}{4}(a - b).$$

(i) We have

$$\varphi^2(q)\varphi^4(-q) + 16q\varphi^2(q)\psi^4(q^2) = a^2b^4 + a^2(a^4 - b^4) = a^6 = \varphi^6(q).$$

(ii) We have

$$\begin{aligned} & \frac{1}{2}\varphi^2(q)\varphi^4(-q) + \frac{1}{2}\varphi^4(q)\varphi^2(-q) + 8q\varphi^2(q)\psi^4(q^2) \\ &= \frac{1}{2}a^2b^4 + \frac{1}{2}a^4b^2 + \frac{1}{2}a^2(a^4 - b^4) \\ &= \frac{1}{2}a^4(a^2 + b^2) \\ &= \varphi^4(q)\varphi^2(q^2). \end{aligned}$$

(iii) We have

$$\begin{aligned} & \frac{1}{2} \varphi^2(q) \varphi^4(-q) + \frac{1}{2} \varphi^4(q) \varphi^2(-q) + 4q \varphi^2(q) \psi^4(q^2) \\ &= \frac{1}{2} a^2 b^4 + \frac{1}{2} a^4 b^2 + \frac{1}{4} a^2 (a^4 - b^4) \\ &= \frac{1}{4} a^2 (a^2 + b^2)^2 \\ &= \varphi^2(q) \varphi^4(q^2). \end{aligned}$$

(iv) We have

$$\begin{aligned} \varphi^2(q^4) \varphi^4(-q^4) + 2q \varphi^2(q) \psi^4(q^2) &= \frac{1}{8} (a+b)^2 (a^3 b + a b^3) + \frac{1}{8} a^2 (a^4 - b^4) \\ &= \frac{1}{8} a(a+b) (a^2 + b^2)^2 \\ &= \varphi(q) \varphi^4(q^2) \varphi(q^4). \end{aligned}$$

This completes the proof of Theorem 2.1. \square

In [2, Theorems 2.4, 2.5] we used a formula of Carlitz [4, eq. (1.3), p. 168] to prove the following formulae:

$$\sum_{n=1}^{\infty} G_4(n) q^n = q \prod_{n=1}^{\infty} \frac{(1 - q^{2n})^6 (1 - q^{4n})^4}{(1 - q^n)^4} \quad (2.7)$$

and

$$1 - 4 \sum_{n=1}^{\infty} H_4(n) q^n = \prod_{n=1}^{\infty} \frac{(1 - q^n)^4 (1 - q^{2n})^6}{(1 - q^{4n})^4}, \quad (2.8)$$

where for $n \in \mathbb{N}$ the arithmetic functions G_4 and H_4 are defined by

$$G_4(n) := \sum_{\substack{d \in \mathbb{N} \\ d|n}} \left(\frac{-4}{n/d} \right) d^2, \quad H_4(n) := \sum_{\substack{d \in \mathbb{N} \\ d|n}} \left(\frac{-4}{d} \right) d^2. \quad (2.9)$$

If $m \notin \mathbb{N}$, then we define $G_4(m) = H_4(m) = 0$. Jacobi [5] has shown in his famous paper on elliptic functions that

$$\varphi(q) = \prod_{n=1}^{\infty} \frac{(1 - q^{2n})^5}{(1 - q^n)^2(1 - q^{4n})^2}, \quad \psi(q) = \prod_{n=1}^{\infty} \frac{(1 - q^{2n})^2}{(1 - q^n)}. \tag{2.10}$$

From (2.10) we deduce

$$\psi(q^2) = \prod_{n=1}^{\infty} \frac{(1 - q^{4n})^2}{(1 - q^{2n})}, \quad \varphi(-q) = \prod_{n=1}^{\infty} \frac{(1 - q^n)^2}{(1 - q^{2n})}. \tag{2.11}$$

Hence, from (2.7), (2.8), (2.10) and (2.11), we obtain the following result.

Theorem 2.2.

- (i) $\sum_{n=1}^{\infty} G_4(n)q^n = q\varphi^2(q)\psi^4(q^2)$.
- (ii) $1 - 4\sum_{n=1}^{\infty} H_4(n)q^n = \varphi^2(q)\varphi^4(-q)$.

We are now ready to determine $N(1, 1, 1, 1, 2, 2; n)$, $N(1, 1, 2, 2, 2, 2; n)$ and $N(1, 2, 2, 2, 2, 4; n)$ in terms of $G_4(n)$ and $H_4(n)$ for all $n \in \mathbb{N}$. In addition we reprove Jacobi’s formula for $N(1, 1, 1, 1, 1, 1; n)$, see for example [1].

Theorem 2.3. For $n \in \mathbb{N}$

- (i) $N(1, 1, 1, 1, 1, 1; n) = 16G_4(n) - 4H_4(n)$.
- (ii) $N(1, 1, 1, 1, 2, 2; n) = 8G_4(n) - 2(1 + (-1)^n)H_4(n)$.
- (iii) $N(1, 1, 2, 2, 2, 2; n) = 4G_4(n) - 2(1 + (-1)^n)H_4(n)$.
- (iv) $N(1, 2, 2, 2, 2, 4; n) = 2G_4(n) - 4H_4(n/4)$.

Proof. (i) By Theorems 2.1(i) and 2.2 we have

$$\begin{aligned} \sum_{n=0}^{\infty} N(1, 1, 1, 1, 1, 1; n)q^n &= \varphi^6(q) \\ &= \varphi^2(q)\varphi^4(-q) + 16q\varphi^2(q)\psi^4(q^2) \end{aligned}$$

$$= 1 - 4 \sum_{n=1}^{\infty} H_4(n)q^n + 16 \sum_{n=1}^{\infty} G_4(n)q^n.$$

Equating coefficients of q^n ($n \in \mathbb{N}$), we obtain

$$N(1, 1, 1, 1, 1, 1; n) = 16G_4(n) - 4H_4(n).$$

(ii) By Theorems 2.1(ii) and 2.2 we have

$$\begin{aligned} & \sum_{n=0}^{\infty} N(1, 1, 1, 1, 2, 2; n)q^n \\ &= \varphi^4(q)\varphi^2(q^2) \\ &= \frac{1}{2}\varphi^2(q)\varphi^4(-q) + \frac{1}{2}\varphi^4(q)\varphi^2(-q) + 8q\varphi^2(q)\psi^4(q^2) \\ &= \frac{1}{2}\left(1 - 4 \sum_{n=1}^{\infty} H_4(n)q^n\right) + \frac{1}{2}\left(1 - 4 \sum_{n=1}^{\infty} H_4(n)(-q)^n\right) + 8 \sum_{n=1}^{\infty} G_4(n)q^n. \end{aligned}$$

Equating coefficients of q^n ($n \in \mathbb{N}$), we obtain

$$N(1, 1, 1, 1, 2, 2; n) = 8G_4(n) - 2(1 + (-1)^n)H_4(n).$$

(iii) By Theorems 2.1(iii) and 2.2 we deduce

$$\begin{aligned} & \sum_{n=0}^{\infty} N(1, 1, 2, 2, 2, 2; n)q^n \\ &= \varphi^2(q)\varphi^4(q^2) \\ &= \frac{1}{2}\varphi^2(q)\varphi^4(-q) + \frac{1}{2}\varphi^4(q)\varphi^2(-q) + 4q\varphi^2(q)\psi^4(q^2) \\ &= \frac{1}{2}\left(1 - 4 \sum_{n=1}^{\infty} H_4(n)q^n\right) + \frac{1}{2}\left(1 - 4 \sum_{n=1}^{\infty} H_4(n)(-q)^n\right) + 4 \sum_{n=1}^{\infty} G_4(n)q^n. \end{aligned}$$

Equating coefficients of q^n ($n \in \mathbb{N}$), we obtain

$$N(1, 1, 2, 2, 2, 2; n) = 4G_4(n) - 2(1 + (-1)^n)H_4(n).$$

(iv) By Theorems 2.1(iv) and 2.2 we have

$$\begin{aligned} \sum_{n=0}^{\infty} N(1, 2, 2, 2, 2, 4; n)q^n &= \varphi(q)\varphi^4(q^2)\varphi(q^4) \\ &= \varphi^2(q^4)\varphi^4(-q^4) + 2q\varphi^2(q)\psi^4(q^2) \\ &= 1 - 4 \sum_{n=1}^{\infty} H_4(n)q^{4n} + 2 \sum_{n=1}^{\infty} G_4(n)q^n. \end{aligned}$$

Equating coefficients of q^n ($n \in \mathbb{N}$), we obtain

$$N(1, 2, 2, 2, 2, 4; n) = 2G_4(n) - 4H_4(n/4).$$

This completes the proof of Theorem 2.3. □

We close by giving an alternative formulation of Theorem 2.3.

Theorem 2.4. *Let $n \in \mathbb{N}$. Set $n = 2^\alpha N$, where $\alpha \in \mathbb{N}_0$, $N \in \mathbb{N}$ and $N \equiv 1 \pmod{2}$. Let*

$$N = \prod_{p|N} p^{\alpha_p}$$

be the prime factorization of N . Then

$$(i) \quad N(1, 1, 1, 1, 1, 1; n) = \left(2^{2\alpha+4} - 4\left(\frac{-4}{N}\right)\right) N^2 \prod_{p|N} \frac{1 - \left(\frac{-4}{p}\right) p^{-2\alpha_p-2}}{1 - \left(\frac{-4}{p}\right) p^{-2}}.$$

$$(ii) \quad N(1, 1, 1, 1, 2, 2; n)$$

$$= \left(2^{2\alpha+3} - 2(1 + (-1)^{2^\alpha})\left(\frac{-4}{N}\right)\right) N^2 \prod_{p|N} \frac{1 - \left(\frac{-4}{p}\right)^{\alpha_p+1} p^{-2\alpha_p-2}}{1 - \left(\frac{-4}{p}\right) p^{-2}}.$$

$$(iii) \quad N(1, 1, 2, 2, 2, 2; n)$$

$$= \left(2^{2\alpha+2} - 2(1 + (-1)^{2^\alpha})\left(\frac{-4}{N}\right)\right) N^2 \prod_{p|N} \frac{1 - \left(\frac{-4}{p}\right)^{\alpha_p+1} p^{-2\alpha_p-2}}{1 - \left(\frac{-4}{p}\right) p^{-2}}.$$

(iv) $N(1, 2, 2, 2, 2, 4; n)$

$$= \left(2^{2\alpha+1} - 4c(\alpha) \left(\frac{-4}{N} \right) \right) N^2 \prod_{p|N} \frac{1 - \left(\frac{-4}{p} \right)^{\alpha p+1} p^{-2\alpha p-2}}{1 - \left(\frac{-4}{p} \right) p^{-2}},$$

where

$$c(\alpha) = \begin{cases} 0, & \text{if } \alpha = 0, 1, \\ 1, & \text{if } \alpha \geq 2. \end{cases}$$

Proof. It is easy to show that

$$G_4(n) = 2^{2\alpha} G_4(N), \quad H_4(n) = H_4(N), \quad G_4(N) = \left(\frac{-4}{N} \right) H_4(N).$$

Next, as $\left(\frac{-4}{d} \right) d^2$ is a multiplicative function of d , we have

$$\begin{aligned} G_4(N) &= \sum_{d|N} \left(\frac{-4}{N/d} \right) d^2 \\ &= N^2 \sum_{d|N} \left(\frac{-4}{d} \right) \frac{1}{d^2} \\ &= N^2 \prod_{p|N} \left(\sum_{\beta=0}^{\alpha p} \left(\frac{-4}{p} \right)^\beta p^{-2\beta} \right) \\ &= N^2 \prod_{p|N} \frac{1 - \left(\frac{-4}{p} \right)^{\alpha p+1} p^{-2\alpha p-2}}{1 - \left(\frac{-4}{p} \right) p^{-2}}. \end{aligned}$$

Thus

$$G_4(n) = 2^{2\alpha} N^2 \prod_{p|N} \frac{1 - \left(\frac{-4}{p} \right)^{\alpha p+1} p^{-2\alpha p-2}}{1 - \left(\frac{-4}{p} \right) p^{-2}}$$

and

$$H_4(n) = \left(\frac{-4}{N}\right) N^2 \prod_{p|N} \frac{1 - \left(\frac{-4}{p}\right)^{\alpha_p+1} p^{-2\alpha_p-2}}{1 - \left(\frac{-4}{p}\right) p^{-2}}.$$

Using these two formulae in Theorem 2.3 we obtain Theorem 2.4. □

For $u \in \mathbb{N}$ and p an odd prime we have

$$1 - \left(\frac{-4}{p}\right) p^{-2u} \geq 1 - \frac{1}{p^{2u}} \geq 1 - \frac{1}{p^2} \geq \frac{8}{9} > 0$$

so

$$\prod_{p|N} \frac{1 - \left(\frac{-4}{p}\right) p^{-2\alpha_p-2}}{1 - \left(\frac{-4}{p}\right) p^{-2}} > 0.$$

Also it is easy to check that each of

$$2^{2\alpha+4} - 4\left(\frac{-4}{N}\right), 2^{2\alpha+3} - 2(1 + (-1)^{2\alpha})\left(\frac{-4}{N}\right),$$

$$2^{2\alpha+2} - 2(1 + (-1)^{2\alpha})\left(\frac{-4}{N}\right), 2^{2\alpha+1} - 4c(\alpha)\left(\frac{-4}{N}\right)$$

is positive. Thus we have the following result.

Corollary 2.1. For $n \in \mathbb{N}$

$$N(1, 1, 1, 1, 1, 1; n) > 0,$$

$$N(1, 1, 1, 1, 2, 2; n) > 0,$$

$$N(1, 1, 2, 2, 2, 2; n) > 0,$$

$$N(1, 2, 2, 2, 2, 4; n) > 0.$$

References

- [1] A. Alaca, Ş. Alaca and K. S. Williams, The simplest proof of Jacobi's six squares theorem, Far East J. Math. Sci. (FJMS) 27 (2007), 187-192.

- [2] A. Alaca, Ş. Alaca and K. S. Williams, Some infinite products of Ramanujan type, *Canad. Math. Bull.* (to appear).
- [3] B. C. Berndt, *Number theory in the spirit of Ramanujan*, Amer. Math. Soc. Providence, Rhode Island, USA, 2006.
- [4] L. Carlitz, Note on some partition formulae, *Quart. J. Math. (Oxford)* (2) 4 (1953), 168-172.
- [5] C. G. Jacobi, *Fundamenta Nova Theoriae Functionum Ellipticarum*, 1829, in *Gesammelte Werke (Erster Band)*, Chelsea Publishing Co., New York, 1969, pp. 49-239.
- [6] J. Liouville, Sur la forme $x^2 + y^2 + z^2 + t^2 + 2(u^2 + v^2)$, *J. Math. Pures Appl.* 9 (1864), 257-272.
- [7] J. Liouville, Sur la forme $x^2 + y^2 + 2(z^2 + t^2 + u^2 + v^2)$, *J. Math. Pures Appl.* 9 (1864), 273-280.
- [8] J. Liouville, Sur la forme $x^2 + 2(y^2 + z^2 + t^2 + u^2) + 4v^2$, *J. Math. Pures Appl.* 9 (1864), 421-424.